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𝑌(𝑡) = 𝐹(𝐾(𝑡), 𝐴(𝑡), 𝐿(𝑡)) 

𝑓(𝑘) =
𝑌

𝐿
 

δ

𝑘̇ = 𝑠𝑓(𝑘) − (𝑛 +  𝛿)𝑘

̇

𝑠𝑓 (𝑘∗) = (𝑛 +  𝛿) 𝑘∗



𝑠𝑓 (𝑘∗)
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𝑘
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𝑘

(𝑛 + 𝛿)

𝛾𝑘

𝑘(0)𝑝

𝑘(0)r

𝑘∗

𝛾𝑘,𝑖 = 𝑎 + 𝑏𝑙𝑛𝑘𝑖(0) + 𝑢𝑖 𝑏 <

𝑠2 𝑠1

𝑠2 > 𝑠1

𝑘1
∗

𝑘2
∗ > 𝑘1

∗

δ

𝛾𝑘,𝑖 = 𝑑 + 𝑐 𝜃 + 𝑢𝑖                

𝜃

𝑐 > 0



𝑌 𝑋1, 𝑋2

Convergencia absoluta  

𝛾2005−2020 = 1.0266 − 0.0611𝛾𝑖,2004−2005

𝑝𝑣𝑎𝑙𝑜𝑟



𝐷𝑖 = {
1 𝑠𝑖 𝑝𝑖𝑏2004𝑖 > 𝑝𝑟𝑜𝑚𝑝𝑖𝑏2004
0 𝑠𝑖 𝑝𝑖𝑏2004𝑖 ≤ 𝑝𝑟𝑜𝑚𝑝𝑖𝑏2004

𝛾2005−2020 = 𝑎 + 𝑏𝛾2004−2005 + 𝑐𝐷𝑖𝛾2004−2005 + 𝑢𝑖

𝛾2005−2020 = 1.4006 − 0.0934𝛾2004−2005 + 0.0047𝐷𝑖𝛾2004−2005 
 

𝑝𝑣𝑎𝑙𝑜𝑟        (0.246)                     (0.630) 

 

𝐷𝑖 = 1

𝛾2019−2020 = 1.4006 − 0.0894𝛾2004−2005    (6) 
 

𝐷𝑖 = 0

𝛾2019−2020 = 1.4006 − 0.0934𝛾2004−2005

Convergencia condicional  

𝛾𝑘,𝑖 = 𝑑 + 𝑐 𝛾𝑎𝑛𝑎05−20 + 𝑢𝑖

𝛾05−20 = 0.5806 − 0.0296𝛾𝑎𝑛𝑎15−16             (8) 
 

𝑝𝑣𝑎𝑙𝑜𝑟                     (0.1727) 
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https://desca.cndh.org.mx/indicadores/Educacion


 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

https://www.inegi.org.mx/programas/pibent/2013/#Tabulados
https://www.inegi.org.mx/programas/pibent/2013/#Tabulados
https://www.inegi.org.mx/app/tabulados/interactivos/?pxq=educacion_educacion_02_fa5c35ea-9385-41f0-86df-bf2bbfc929e3
https://www.inegi.org.mx/app/tabulados/interactivos/?pxq=educacion_educacion_02_fa5c35ea-9385-41f0-86df-bf2bbfc929e3
https://www.inee.edu.mx/evaluaciones/panorama-educativo-de-mexico-isen/cs03c-poblacion-analfabeta/#:~:text=Es%20el%20n%C3%BAmero%20de%
https://www.inee.edu.mx/evaluaciones/panorama-educativo-de-mexico-isen/cs03c-poblacion-analfabeta/#:~:text=Es%20el%20n%C3%BAmero%20de%
https://www.inee.edu.mx/evaluaciones/panorama-educativo-de-mexico-isen/cs03c-poblacion-analfabeta/#:~:text=Es%20el%20n%C3%BAmero%20de%
https://www.inee.edu.mx/wp-content/uploads/2019/05/CS03c_2006.xlsx
https://www.inee.edu.mx/wp-content/uploads/2019/05/CS03c_2006.xlsx
https://www.inee.edu.mx/wp-content/uploads/2019/05/CS03c_2014.xlsx
https://www.inee.edu.mx/wp-content/uploads/2019/05/CS03c_2014.xlsx


 

 

 

 

 

 

 

 

 

 

 

 

 

𝑌 𝑋1, 𝑋2

 

𝑌

∆𝑌

𝑦
=
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=
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